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He slaughtered them, not for their designation and sprinkled their
blood not for their designation

OVERVIEW

The X3 cites a Xn>>72 which states that the an>7 snw do not become w17Tp if the
NIy "wad were 1wL XYW vnwl and the o7 was 7wh X5w 1. The inference would
be that if the 07 would be W% 711 then even if the TV W was w5 XoW the on®
would become [217P 13°X1] W17P (according to °27). MoOIN rejects this notion.
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It appears to Mo01n that the phrase of JawY Xbw %7 p=%1 is imprecise; it is not
necessary that it was 7aw% 82w 127 pn for the an»i *nw not to be come wTp if it

was 1w Row unw; for the same ruling would be, even if it was 32w% 713; as long
as it was 1aWw? K7W jonw the an cannot become W1Tp regardless whether the 07 was 72w% p7m or
MW ROW.

SUMMARY
If the v W of the NIXY w2 was 12w K7W, the 7730 "nn> do not become WP even
if the 1p>71 was 72w5.

THINKING IT OVER

Why is it that if the 70 nw was 1aw5 the 770 "0 are [W17p 12°K1] WI7P even if the 07
was Jaw Xow P11, however if the o7 was 7aw% P11 the an> do not become w17 if
the 70 Nw was MWL ROW. Why is the 2°nn of nu nw different than the 2°n» of 07?

! The 28 npon references a Xn™92 in 2,7p N2’ where it clearly states Drvm WP X2 1aW9 127 PN 1w K9W 10w,
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